
KKCL
HYDRAULIC EQUIPMENTS







1.In fixed displacement vane pump system, the open circuit is recommended.

2.Set Suction Port, the fluid transmission speed at the pump: must be between 0.6M/sec~1.5M/sec

(Please refer to Page No.61)

3.Set Discharge Port, the fluid transmission speed : must be between 2.3M/sec~4.75M/sec

(Please refer to Page No.61)

4.Set Suction , at the pump Suction Port  must be between - 150mmHg ~ + 0.5Kgf/cm

5.Lay the suction piping under the fluid level at least 1M

6.When connecting the pump to an electric motor, limit the tolerance of alignment between the two shaft

7.Before starting, make sure that direction of the electric motor shaft rotates the same direction with the

   pump shaft as indicated with an the nameplate or on the housing of the pump

8.When the pump is be operated for the first time, place the pump delivery side in NO-Load condition and

    repeat starting and stopping of the motor for several times, to eject the air from inside of the pump and

    piping, if keep on 10 minutes operation will be much better.

9.Viscosity range for a fixed displacement vane pump:(Please refer to Page No.60)

    800 mm /sec maximum for starting with delivery

    200 mm /sec maximum for starting at zero stroke

    16 mm /sec minimum at maximum operating temperature

10.In selecting a hydraulic fluid, remember that the minimum permitted temperature in the hydraulic system

11.Air Bleed
All the time of first-starting, if the pump does not immediately prime, air should be bled from the pump

     delivery line. This may be accomplished by loosening a connection in the delivery line close to the

     pump until oil flows-indicating the pump has primed. An air bleed valve is available for this purpose.
12.Water-in-Oil Emulsions
     Water-in-oil emulsions may be used. However, they require careful selection and monitoring of the

     fluid. (Please refer to Page No.9)
13.Synthetic Fire Resistant Fluids

Phosphate esters and their blends with operating viscosity of the petroleum oil described above may be

     used. These fluids are generally compatible with fluorocarbon and silicone elastomers.

    (Please refer to Page No.9)
14.Filtration Requirements

For satisfactory service life of components, use full flow filtration to provide fluid cleanliness

     conforming to ISO code 18 / 15 or better.

  1.

  2. 0.6~1.5 ( 61 )

  3. 2.3~4.75

  4. 150mmHg~+0.5Kgf/cm

  5. 1

  6. 0.05mm

  7.

  8.

  9. 200mm /sec ( 60 )

10.

11.

12. 30% ( 9 )

13.

14. ISO 18/15

2

2

2

2

2

2

Care in Application(Fixed Displacement  Single Pump )KCL

3



kgf/cm

kgf/cm

Cont.

using anti-wear oil or

phosphate ester fluid

using anti-wear oil or

 phosphate ester fluid

357

408

HVQ20   4 , 6 , 8 , 11
 14,17,19, 23

F:

Flange
Type

L:
Foot
Type

ORDERING CODE
HVQ20

Model number
Displacement

  c.c/rev

-19 -F

Mounting
 Type

1800

2300

2500

Model

Max (rpm)

3000

HVQ20 - 23

HVQ20 - 19

HVQ20 - 17

HVQ20 - 14

HVQ20 - 11

HVQ20 - 8

HVQ20 - 6

HVQ20 - 4

HVQ20

Model

01:Normal

Shaft Type

A:

Upward

(Normal)

B:

Downward

R:

On Right Hand

L:

On Left Hand

R:

Clockwise

L:

Anti-

Clockwise

-R

View from

Shaft End

Rotation

A

Discharge
Position

800

800

800
1800

Position

A

Suction

-01

1800

Weight: 18.1 Kg

Output
Dimensional

-01

using water glycol

fluid

Running  Speed    r/min(rpm)

800

Min (rpm)

Max  (rpm)

kgf/cm

kgf/cm

380

450

using water-in-oil

emulsions

kgf/cm

255

kgf/cm

255

kgf/cm

280

kgf/cm

280

using water glycol fluid

Maximum    pressure

Peak.

Mpa (kgf/cm )2

HVQ20 - 4

HVQ20 - 6

HVQ20 - 8

HVQ20 - 11

HVQ20 - 14

HVQ20 - 17

HVQ20 - 19

HVQ20 - 23

Cont. Peak.

A:

Upward

(Normal)

B:

Downward

R:

On Right Hand

L:

On Left Hand

HVQ Series Single Pump Ordering Code

HVQKCL

03:

01:Normal

4



HVQ Series Single  Pump Dimensional Drawing

HVQ
6

5

1
2

7
.5

68

5
2

.4

2
5

.0
1

1
0

1
.6

51

62.5

25.01 22.23 6.35

HVQ20

26.2

1
2

5

174

146

DISCHARGE PORT 13

A B C

SUCTION PORT 25

N0.01-Shaft

24.5

40.7

1.5

NO.3 Shaft
SAE B-B splined shaft

Class 1-J498 b 16/32 d.p.

-13 teeth 

angle flat root side fit

N0.03-Shaft  Spline Shaft

29

16 9

18.2

4-M8x1.25P-DEEP 14

4-M10x1.5P-DEEP 19

4
0

.5

6
.3

5
-0 -0

.0
2

(C
)

-0 -0
.0

52
2

.2
3

32

-0 -0
.1

6

-0 -0
.0

2
1 (B

)(A
)

181

2- 13.5 HOLES
25 SPOT FACER 1 DEEP

KCL

Foot Type ( )

60

115

73

21 SPOT FACER 1 DEEP

4- 13.5 HOLES

95

2

1
5120

95

230

1
8

9

1
0

2

38

68

5



DVQ Series Single Pump Ordering Code

DVQ

Discharge PositionDisplacement

 c.c/rev

DVQ25

DVQ20

Model number

F:

Flange
Type

L:
Foot
Type

18,22,26
32,38,43
47,52,60
65,75

6,8,11,14
17,19,23
26,32,34
38,44

-26

Mounting Type

-F

A:

Upward

(Normal)

B:

Downward

R:

On Right

Hand

L:

On Left

 Hand

R:

Clockwise

L:

Anti-

Clockwise

View from

Shaft End

Rotation

-R A

Foot Type 23 Kg

01:
Normal

Shaft TypeSuction  Position

A 01

DVQ20
Weight : Flange Type 12.5 Kg

DVQ25
Weight : Flange Type 18 Kg

Foot Type 15 Kg

DVQ20

DVQ25

Model

Deliver Flow (  /min) at no-load pressure Running Speed

(rpm)

Running Speed (rpm)

Max Pressure

( Kgf/cm  )
2

Max Min

Cont. Peak.1000 1200 1500 1800

06

08

11

14

17

19

23

26

32

38

22

26

32

38

43

47

52

60

65

75

18

11.2

23.3

32.1

26.1

17.1

19.2

14.3

6.2

8.1

38.1

13.4

27.9

38.3

31.3

20.5

23.0

17.1

7.4

9.7

45.9

13.4

34.9

47.6

39.1

25.6

28.8

21.5

9.3

12.1

20.1

41.9

46.9

30.7

34.5

25.7

11.2

14.6

1800 210

240

260

240

1800

1800

1800

1800

1800

1800

1800

1500

1200

800

800

800

800

800

800

800

800

800

800

210

210

210

210

210

210

210

175

175

260

260

260

260

260

260

260

26.2

47.1

65.3

60.2

52.3

43.2

38.2

32.1

22.1

18.1

75.0

26.5

78.3

90.0

51.8

72.7

62.7

56.5

45.8

31.4

38.5

21.7

33.3

112.5

97.9

90.3

78.4

70.0

64.8

57.3

48.1

39.3

27.2

39.8

117.5

108.3

94.1

85.0

77.7

68.7

57.7

47.1

32.6

1800

1800

1800

1800

1800

1800

1800

1800

1800

1800

1500

800

800

800

800

800

800

800

800

800

800

800

210

210

210

210

210

210

210

210

210

210

210

260

260

260

260

260

260

260

260

260

230

230

34 34.1 40.8 50.4 1500 800 175 240

A:

Upward

(Normal)

B:

Downward

R:

On Right

Hand

L:

On Left

 Hand

KCL

44 52.944.1 1200 800 175 210

6





SINGLE PUMP WEIGHT LIST (Kg)

SVQ35

A:

Upward

(Normal)

B:

Downward

R:

On Right Hand

L:

On Left Hand

Position
Discharge

6,8,11,14,17,
19,23,26,31,38

6,8,11,14,17,
19,23,26,31,
38

136,156,189,
200,216,237

60,66,76,82,
88,94,108,
116,125

18,22,26,32,
38,43,47,52,
60,65,75

Outlet & Inlet

Flange Type

Flange

Foot Type

0.9

12.7

VQ15

10.3

VQ35

VQ45
SVQ45
DVQ45

SVQ35

VQ20

SVQ25

VQ25

0.9

17

12.3

VQ20

1.6

21.4

16.7

VQ25

1.6

31

SVQ25

23

2.0

44

VQ35

36

F:

Flange Type

L:
Foot Type

R:

Clockwise

L:

Anti-

Clockwise

SVQ25
SVQ35
SVQ45
DVQ45

Displacement

c.c/rev ( )

-17

VQ15
VQ20
VQ25
VQ35
VQ45

VQ15

Model number

VQ15

ORDERING CODE

F

Mounting Type

R

View from

Shaft End

Rotation

A

3.2

DVQ45

3.2

60

52

VQ45

2.0

41

33

3.2

SVQ45

98

66.5

-01

Position
Suction

-01

Shaft Type

VQ Series Single  Pump Ordering Code

VQKCL

A:

Upward

(Normal)

B:

Downward

R:

On Right Hand

L:

On Left Hand

61

92

-02

-03

8



Using anti-wear oil or

Phosphate ester fluid

Using water glycol

fluid

Using water-in-oil

emulsions Min Speed

(rpm)

Max Pressure Max Speed
(Kgf/cm )2 ( rpm )

Max Pressure
(Kgf/cm )2

Max Speed
( rpm )

Max Pressure
(Kgf/cm )2

Max Speed
( rpm )

Geometric

displ.

(c.c/rev)

Model

VQ15

VQ20

VQ25

SVQ25

VQ35

SVQ35

VQ45

SVQ45

DVQ45

06

08

11

14

17

19

23

26

31

23

31

26

08

14

19

17

11

06

38

43

47

52

32

38

22

26

18

60

65

75

60

66

94

108

76

88

82

116

125

136

156

189

216

237

210 1800 160 1200 140 1200 800

175

1800210 160 8001200 140 1200

175

1800210 160 8001200 140 1200

1800175 160 6001200 140 1200

1500

1800175 140 6001200 140 1200

200

VQ Series Max. Continuous Pressure

VQKCL
VQ

38

1500

1200

1500

1200

1500

1500

9



108.3

117.5

22

65

75

VQ25
43

52

60

47

32

38

26

11

VQ15

23

18

31

26

17

19

14

Model

06

08

33.226.522.1

38.5

31.4

45.8

56.5

62.7

72.7

51.8

90.0

78.365.3

75.0

43.2

52.3

60.2

47.1

32.1

38.2

26.2

97.9

112.5

39.3

48.1

57.3

64.8

70.0

78.4

90.3

21.7

9.7

7.4

17.1

23.0

20.5

31.3

37.3

27.9

13.4

1200

Running Speed

Delivery Flow (  /min) at no-load pressure

11.2

23.3

18.1

26.1

31.1

17.1

19.2

14.3

6.2

8.1

1000

16.8

27.2

21.5

28.8

25.6

39.1

46.6

34.9

12.1

9.3

1500

(rpm)

( Kgf/cm  )

Max Pressure

210800180039.8

1800

1500

77.7

94.1

85.0

57.7

68.7

47.1

1800

1800

1800

1800

1800

1800

1800

210800

800 210

800

800

800

800

800

800

800

210

210

210

210

210

210

210

(rpm)

Running Speed

180020.1

41.9

32.6

46.9

30.7

34.5

25.7

1800

1800

1500

1800

1800

1800

1800

1800

11.2

14.6

Max

1800

1800

210800

800

800

800

800

800

800

800

210

210

175

210

210

210

210

Min

800

800

Cont.

210

210

230

230

240

Peak.

2

30.7

25.7

14.6

41.9

46.9

34.5

11.206

17

23

26

31

19

11

14

08

9.36.2 7.4

9.7

17.1

23.0

20.5

31.3

37.3

27.9

13.4

17.1

23.3

26.1

31.1

19.2

11.2

14.3

8.1

39.1

12.1

21.5

25.6

28.8

34.9

16.8

46.6

2108001800

20.1

1800

1800

1800

1800

1500

1800

1800

1800

800

800

800

800

800

800

800

800

210

210

210

210

175

210

210

210

230

VQ20

38 38.1 45.6 1200 800 175

VQ35

SVQ35

VQ45

SVQ45

DVQ45

108

125

116

88

94

76

82

60

66

216

237

189

156

136

237.0

136.8

189.5

216.0

156.2

116.1

124.6

108.2

94.5

60.3

76.3

88.3

82.2

66.4

285.0

164.0

260.0

227.0

188.0

149.5

139.3

129.8

113.4

72.3

91.5

105.9

98.6

79.6

123.3

114.4

99.6

90.4

355.0

324.0

234.0

204.0

186.9

174.1

162.3

141.7

132.4

284.0

170.1

158.9

147.9

137.3

119.5

108.5

194.4

208.9

340.0

280.0

246.0

1800

1800

1800

1800

1500

1800

1800

1800

1800

1500

1500

1800

1800

1800

600

600

600

600

600

600

600

600

600

600

600

600

600

600

175

175

175

175

175

175

175

175

175

175

175

175

175

175

165

165

165

165

165

210

210

210

210

210

210

210

210

210

240

240

240

240

240

240

240

240

230

230

230

230

230

230

230

230

230

230

230

230

230

230

230

230

230

230

SVQ25

KCL VQ Series Typical Performance Characteristics
VQ

38 38.1 45.6 1200 800 175 230

200 200.0 240.0 300.0 360.0 1800 600 165 175

10



11-Teeth Spline

3/4" (19.05)DIA
30 pressure

angle Flat root side

fit

9.5

4

1
0

1
.6

13
32 4.5

4-M10x1.5P-DEEP 17

DISCHARGE PORT 15

26.2

56.5

1
1

6

6
0

5
2

.4

VQ15

SUCTION PORT 30.8

+
0

-0
.0

2
1

176

25

32

35

44

17.5

3
8

.1

+
0

-0
.0

5
8

2
.5

5

+
0

-0
.1

6
B

+
0

-0
.0

2
1

A
C

13

7

2
DEEP 17

4-M8X1.25P

120

230

146

115

60

38

73

174

2

95 95

1
5

1
0

2

1
8

9

4.76

98

18 SPOT FACER

2- 11 HOLES

NO.03-Shaft

NO.01-Shaft

50

Spline shaft

1 DEEP

133.5

106

19.05

55

24.5

21.24

72.5

176

2

72.5

180

95

1
5 8

0

1
4

8
.5

Max. Pressure: 240 Kgf/cm (Peak)
2

Max. Speed: 1800 rpm

VQ20
Max. Pressure: 230 Kgf/cm (Peak)

Max. Speed: 1800 rpm

2

50

46

32

BA C

NO.03-Shaft

NO.01-Shaft 22.23

A B

24.5

C

4.76

NO.02-Shaft 6.3528.1825.4

22.23 24.94 6.35

VQ Series Single  Pump Dimensional Drawing

VQKCL

NO.03-Shaft

DISCHARGE PORT 19.05

SUCTION PORT 31.75

4-M10x1.5P-DEEP 17

30.2

22.2

4-M10x1.5P-DEEP 19

197.5

67 28 59.5

6
5

1
2

0

A B
+

0
-0

.1
6

+
0

-0
.0

2
1

+
0

-0
.0

5

21 SPOT FACER 1 DEEP

2- 13.5 HOLES

4- 13.5 HOLES

21 SPOT FACER 1 DEEP

197.5

67

Foot Type ( )

Foot Type ( )

2- 11 HOLES

18 SPOT FACER 1 DEEP

+
0

-0
.0

2
1

4
.7

6

4
7

.6

31.5

7

17

3

36.4

7

20

2.5

NO.05-Shaft
SAE A

12/24 dp.

pressure angle

Flat root side

fit.

NO.05-Shaft Spline shaft

11



1
0

1
.6

16/32 d.p. -13

teeth 30

pressure angle

Flat root side fit.

SUCTION PORT 39

4-M12X1.75P-DEEP19

DISCHARGE PORT P1 25

178.5

83 9.538.1

3

E

+
0

-0
.0

2
1

A

+
0

-0
.0

5
1

2
7

+
0

-0
.1

6
B

4-M10X1.5P-DEEP 18

35.7

26.2

6
9

.9

C
+

0
-0

.0
2

1

32

5
2

.4

9.5

1
3

8

26.2

7
6

83

162.5

6
9

.9

35.7

E

3

38.1

A B

24.5

40.7

2
2

.2
3

5
2

.4

32
13

C

4.5

4- 17.5 HOLES

26 SPOT FACER 1 DEEP

117.5

26 SPOT FACER 1 DEEP

16/32 d.p. -13

teeth 30

pressure angle

Flat root side fit.

2- 17.5 HOLES

8
0

83

238

73

131

76.2

34.5

59.538.1

181

211

2
1

7
117.5

274

151

2 1
0

9
.5

4- 13.5 HOLES

21 SPOT FACER 1 DEEP

Spline shaftNO.04-Shaft

NO.03-Shaft 30 33

NO.02-Shaft

NO.01-Shaft

25.4

22.23

28.18

24.5

7

146

171

38

6.35

6.35

115

60 73

222
83

1
0

2

1
2

2

120

230

95

2

95

1
5

1
8

9

VQ25
Max. Pressure: 230 Kgf/cm (Peak)

Max. Speed: 1800 rpm

2

SVQ25
Max. Pressure: 230 Kgf/cm (Peak)

Max. Speed: 1800 rpm

2

A B C

NO.04-Shaft

VQ Series Single  Pump Dimensional Drawing

VQKCL

DISCHARGE PORT 25

SUCTION PORT 39

+
0

-0
.0

2
1

7.9

4-M10x1.5P-DEEP 18

4-M12x1.75P-DEEP 19

+
0

-0
.0

2
1

+
0

-0
.1

6

+
0

-0
.0

5

2- 13.5 HOLES

1 DEEP21 SPOT FACER

Foot Type ( )

NO.04-Shaft

Foot Type ( )
40.7

24.5

7.9

2
2

.2
3

E

50.5

59

28.18

Spline shaft

NO.01-Shaft

NO.02-Shaft

NO.03-Shaft

NO.04-Shaft

22.23

25.4

BA

30 33

24.5

59

EC

6.35

6.35

7

50.5

50.5

50.5

12



12/24 d.p.-14

teeth 30 pressure

angle Flat root

side fit.

9

21

9

5
8

.7

279

1
7

8

9
0

90

7
7

.8

A63

75

3

37

47

C

1
2

7

B

7.9

5
8

.7

38

3
1

.7
5

21

213

181

112

76.2

131

278

97

88

50

274

1
5

9

117.5

26 SPOT FACER 1 DEEP

76.2

131 50

88

117.5

274

2

279

90 112

4- 17.5 HOLES

1
0

9
.5

1
6

4

2
3

2
1

7

VQ35
Max. Pressure: 210 Kgf/cm (Peak)

Max. Speed: 1800 rpm

2

38.56

Spline shaft

NO.01-Shaft

NO.02-Shaft

NO.03-Shaft

31.75

34.9

BA

35.32

C

7.95

7.95

55.2

SVQ35
Max. Pressure: 210 Kgf/cm (Peak)

Max. Speed: 1800 rpm

2

31.75

NO.02-Shaft

NO.01-Shaft

A

34.9 7.95

7.95

C

38.56

35.32

B

1
7

8

9
0

97

278

47

9

3

37

75

63

VQ Series Single  Pump Dimensional Drawing

VQKCL

DISCHARGE PORT 30

SUCTION PORT 56

4-M10X1.5P DEEP 19

40

151

NO.03-Shaft

+
0

-0
.0

2
1

42.9

4-M12x1.75P DEEP 19

+
0

-0
.0

2
1

+
0

-0
.1

8

+
0

-0
.0

5
Foot Type ( )

Foot Type ( )

26 SPOT FACER1 DEEP

2- 17.5 HOLES

213

181

C
+

0
-0

.0
2

1

7
7

.8

42.9
30.2

40

4-M10X1.5P DEEP 19

DISCHARGE PORT 30

SUCTION PORT 56

4-M12x1.75P DEEP 19

4- 17.5 HOLES

26 SPOT FACER 1 DEEP

151

117.5 117.5

2
1

7

1
0

9
.5

2
3

2- 17.5 HOLES

26 SPOT FACER  1 DEEP

+
0

-0
.1

8
B

+
0

-0
.0

2
1

A

+
0

-0
.0

5
1

2
7

13



13

3
2

7
.3

3

1
0
6
.4

2
1

8

1
1

5

111

337

70

43

126

83

3
8

.1

4
2

.3
6

61.9

6
9

.9

35.7

1
4

0

2
2

8
.6

114.3

185 438

280

374.6

1
8

7
.3

1
0

6
.4

1
8

7

9
8

.5

13

3

1
2

7

52

110.2

61.9

336

35.7

55

70

135

83

6
9

.8

211

181

131

76.2 95

59 117.5

274

117.5

110.2

336

135

2

2
1

7

1
0

9
.5

Max. Pressure: 175 Kgf/cm (Peak)

Max. Speed: 1800 rpmVQ45
2

Max. Pressure: 175 Kgf/cm (Peak)

Max. Speed: 1800 rpmDVQ45
2

VQ Series Single  Pump Dimensional Drawing

VQKCL

9
.5

4

3
8

.1

+
0

-0
.0

2
1

+
0

-0
.0

2
1

SUCTION PORT 75
DISCHARGE PORT 38

4-M16x2.0P-DEEP 19

4-M12x1.75P-DEEP 19

Foot Type ( )

Foot Type ( )

151

273

228.6

26 SPOT FACER 1 DEEP

4- 17.5 HOLES

26 SPOT FACER 1 DEEP

2- 17.5 HOLES

43 SPOT FACER 1 DEEP

4- 22 HOLES

39

SUCTION PORT 75

4-M16x2.0P-DEEP 19

4-M12x1.75P-DEEP 19

DISCHARGE PORT 38

+
0

-0
.1

8
4

2
.3

6

+
0

-0
.0

5

9
.5

4
+

0
-0

.0
2

1
+

0
-0

.0
2

1

+
0

-0
.1

8

+
0

-0
.0

5
1

5
2

.4

4- 22 HOLES

35 SPOT FACER 1 DEEP

14



3

374.6

114.3

185

1
4
0

273

228.6

4- 22 HOLES

2
2
8
.6

438

280

3
2

7
.3

1
8
7
.3

SVQ45
Max. Pressure:175 Kgf/cm (Peak)

Max. Speed: 1800 rpm

2

VQ Series Single  Pump Dimensional Drawing

VQKCL

DISCHARGE PORT 38

SUCTION PORT 75

4-M12X1.75P DEEP 19

13

35.761.9
4-M16x2.0P DEEP 19

1
0
6
.4

6
9
.9

9
.5

4
+

0
-0

.0
2

1
390

166.5 131

50 81

65

2
1
8

1
1
5

+
0

-0
.0

5
1
5
2
.4

4
2
.3

6
+

0
-0

.1
8

+
0

-0
.0

2
1

3
8
.1

35 SPOT FACER 1 DEEP

4- 22 HOLES

39

43 SPOT FACER 1 DEEP

Foot Type ( )

15



VQ Single  Pump Parts List
VQ

Back-Up Ring ( ( ))

Back-Up Ring ( ( ))

O-ring & Endless ( ( ))

O-ring & Endless ( ( ))

Housing ( )NO.6

NO.8

NO.10

NO.9

NO.11

NO.12

NO.7

O-Ring (O )

Cap-Screw ( )

Cover ( )

Cartridge Kit ( )

NO.1

NO.2

NO.3

NO.4

NO.5

Shaft ( )

Retainer Ring ( )

Bearing ( )

Seal ( )

Key ( )

VQ15
VQ20
VQ25
VQ35
VQ45

SVQ25
SVQ35
SVQ45

(DVQ45)

  VQ Series Single  Pump Decomposition Chart

VQKCL

(DVQ)

(SVQ)

16



KCL
Memo

17



VQ325

DOUBLE PUMP WEIGHT LIST(Kg)

A:Upward

(normal)

B:Downward

R:Right

Hand

L:Left

 Hand

Discharge Port
Position (P1) Shaft End Pump

(view from Shaft End)

ORDERING CODE

Shaft Rotation
(view from Shaft

End)

Mounting
Type

P2:Discharge

Port c.c/rev

Cover End

P1:Discharge

Port c.c/rev

Shaft End

Series

Number

VQ215

Foot Type

Flange Type

Outlet & Inlet
Flange 2.5

24

29

VQ435
SVQ435
DVQ435

VQ425
SVQ425
DVQ425

VQ325

VQ215
SVQ215

SVQ315

VQ225

18,22,26,32
38,43,47,52

60,65,75

136,156
189,200
216,237

136,156
189,200
216,237

60,66,76
82,88,94

108,116,125

60,66,76
82,88,94

108,116,125

18,22,26,32
38,43,47,52
60,65,75

3.2

30.6

35.5

VQ225

32

40

3.2

SVQ215 SVQ315

3.5

44.4

52

F:

Flange
Type

L:
Foot
Type

6,8,11,14
17,19,23
26,31,38

60,66,76,82
88,94,108
116,125

18,22,26,32
38,43,47,52

60,65,75

18,22,26,32
38,43,47,52

60,65,75

6,8,11,14
17,19,23
26,31,38

18,22,26,32
38,43,47,52
60,65,75

R:

Clockwise

L:

Anti-

Clockwise

SVQ215
SVQ315
DVQ425
SVQ425
SVQ435
DVQ435

VQ215
VQ225
VQ325
VQ425
VQ435

Shaft
Type

Discharge Port
Position (P2) Cover End Pump

(view from Shaft End)

Suction Port

Position (view

from Shaft End)

VQ435

A:On Right Hand

(normal)

B:On Right Hand

C:On Left Hand

D:On Left Hand

A:Upward

   (normal)

B:Downward

R:Right Hand

L:Left Hand

DVQ425

73

104

4.8

VQ425

4.83.5

50

58 71

63

SVQ425

80

111

4.8 5.2

93

76

DVQ435

5.2

115

84

5.2

122

91

SVQ435

-02

VQ Series Double  Pump Ordering Code

VQKCL

Kg)

P1 P2 P1 P2

A:Upward

(normal)

B:Downward

R:Right

Hand

L:Left

 Hand

-01

-03

18



A

1
5
5
.5

8
0
.5

+
0

-0
.0

5
1
2
7

B

4-M10x1.5P DEEP 19

DISCHARGE PORT P2 19

101.6

4-M12x1.75P DEEP 19

4
7
.6

88

257

22.2

50.8

SVQ215

SUCTION PORT 56

4-M10x1.5P-DEEP 18

+
0

-0
.0

2
1

DISCHARGE PORT P1 25

38.1 L

+
0

-0
.1

6

7.9

24.5

40.7

8
8
.9

+
0

-0
.0

2
1

C

9.5

26.2

5
2

.4

8
0

26 SPOT FACER 1 DEEP
2- 17.5 HOLES

8
1

274

181

218

35.5

73.5

131

76.2

101.688

117.5

2

117.5

151

26 SPOT FACER 1 DEEP

4- 17.5 HOLES

2
1

7

1
0

9
.5

110

21 SPOT FACER
1 DEEP

4- 13.5 HOLES

21 SPOTFACER
 1 DEEP

DISCHARGE PORT P2 19

80

256

4-M10x1.5P DEEP 19

7
6

1
4

4

110

4-M12x1.75P DEEP 19

4
7

.6

22.2

42.9

16/32 d.p. -13 teeth

30 pressure angle

Flat root side fit.

9.5

3

38.1

+
0

-0
.0

5
1

0
1

.6

+
0

-0
.1

6

+
0

-0
.0

2
1

A B

4-M10x1.5P DEEP 18

24.5

26.2

40.7

32

VQ215

SUCTION PORT 56

DISCHARGE PORT P1 25

C
+

0
-0

.0
2

1

5
2

.4

2- 13.5 HOLES

1
2

2

171

146

115

60 73

38 95

230

95

120

80

1
5

2

1
0

2

1
8

9

28.18

Spline shaft 7/8" -13T

NO.01-Shaft

NO.02-Shaft

NO.03-Shaft

NO.04-Shaft

22.23

25.4

BA

30 33

24.5

C

6.35

6.35

7

16/32 d.p. 13teeth

30 pressure angle

 Flat root side fit.

L

61

61

68

33

28.18

24.5NO.01-Shaft

NO.02-Shaft

NO.03-Shaft

NO.04-Shaft

22.23

25.4

30

A B

61

61

68

LC

7

6.35

6.35

VQ Series Double  Pump Dimensional Drawing

VQKCL

Foot Type ( )

NO.04-Shaft

Foot Type ( )

NO.04-Shaft

3

7.9

Spline shaft 7/8" -13T

4

32 4

19



1
0

1
.6

SUCTION PORT 56

8
8

.9

5
2

.4

1
2

0

4-M10x1.5P

7
6

108.5

DEEP 19

4-M12x1.75P

DEEP 18 26.2

VQ225
DISCHARGE PORT

P2 24.5

5
2

.4

109

7
8

.5

358

7
6

38.1

DISCHARGE PORT

P1 25

50.8

26.2

+
0

-0
.0

2
1

A

55.5

32 4

68

+
0

-0
.1

6
B

+
0

-0
.0

5

4-M10x1.5P
DEEP 18

3

12

+
0

-0
.0

2
1

C

9.5

25 SPOT FACE 1 DEEP

2- 13.5 HOLES

1 DEEP
21 SPOT FACER

4- 13.5 HOLES
115

60

38

73

109 106109

358

1
5

146

173

1
1

7

230

95

120

95

2 1
0

2
1

8
9

30

A

25.4

22.23

Spline shaft 7/8" -13TNO.04-Shaft

NO.03-Shaft

NO.02-Shaft

NO.01-Shaft

6.35

6.3524.5

B

28.18

33 7

C

16/32 d.p. -13 teeth

30 pressure angle

flat root side fit.

N0.04-Shaft

NO.05-Shaft Spline shaft 1" -15T

24.5

45.5

NO.5 Shaft
16/32 d.p. -15 teeth

flat root side fit

24.5

40.7

1
8

1

6
0

9
5

120

9
7

4
7

.6

22.2

SVQ315

112122

37

380

61.9

40

63

75 A B

30.2

5
8

.7

7
.9

5

274

8876.2

31.75

131

1
2

7

9
0

NO.02-Shaft

NO.01-Shaft

A

34.9

B

38.56

35.32

50
117.5

120 122

380

112

2

117.5

1
0
9
.5

2
1
7

VQ Series Double  Pump Dimensional Drawing

VQKCL

7.9

Foot Type ( )

Foot Type ( )

7.9

DISCHARGE PORT P1 30

SUCTION PORT 78.5

DISCHARGE PORT P2 19

4-M10x1.5P DEEP 19

4-M16x2.0P DEEP 19 4-M10x1.5P DEEP 19

+
0

-0
.0

5

4- 17.5 HOLES

26 SPOT FACER 1 DEEP

151

1
5

9

181

214

+
0

-0
.1

8

+
0

-0
.0

2
1

26 SPOT FACE 1 DEEP

2- 17.5 HOLES

20



26.2

VQ425

5
2
.4

21

138.5

1
8

3

5
2
.4

26.2

VQ325

1
0
6
.4

112

30.2

115.5

403

61.9

75

3

40

21

+
0

-0
.0

2
1

7
.9

5

9

274

131

76.2

154

445

119.4

181

211

95

59

135

117.5

2 1
0

9
.5

117.5

2
1

7

117.5
88

131

76.2

117.5
50

274

403

115.5138.5 112

2 1
0

9
.5

2
1

7

NO.02-Shaft

NO.01-Shaft

34.9

31.75

A

35.32

38.56

B

VQ Series Double  Pump Dimensional Drawing

VQKCL

Foot Type ( )

151

4- 17.5 HOLES

26 SPOT FACER 1 DEEP

5
8
.7

63

47

9
5

13

+
0

-0
.0

5
1

2
7

+
0

-0
.1

8
B

+
0

-0
.0

2
1

A

6
9

.9

9
.5

4
+

0
-0

.0
2

1

35.7
69.9

1
2

0
.7

Foot Type ( )

151

445

362

154 119.4 52 83

67

55

3

1
0

2
.4

1
8
9

1
2
7

+
0

-0
.0

5

9
0

+
0

-0
.1

8
4

2
.3

6

3
8

.1
+

0
-0

.0
2

1

9
8

.5

1
7

5

4-M10x1.5P DEEP 18

DISCHARGE PORT P1 30

SUCTION PORT 78.5

4-M10x1.5P DEEP 19

4-M16x2.0P DEEP 19

DISCHARGE PORT
P2 24.5

26 SPOT FACER 1 DEEP

2- 17.5 HOLES

4- 17.5 HOLES

26 SPOT FACER 1 DEEP

2- 17.5 HOLES

26 SPOT FACER 1 DEEP

4-M10x1.5P DEEP 18

DISCHARGE PORT
P2 24.5

4-M12x1.75P DEEP 20

4-M16x2.0P DEEP 19

SUCTION PORT 85

DISCHARGE PORT P1 38

21



69.9

1
1

5

1
4

0

1
5

2

SVQ425

1
9

0

1
2

0
.7

181.5162.5 50

3

55

65

35.7

28

6
9

.9

13

5
2

.4

DVQ425

164 43

228.6

512.5
162.5

273

81181.5 50

2
2

8
.6

374.6

280

438

3
0

1
8

7
.3

3
2

7
.3

114.3

VQ Series Double  Pump Dimensional Drawing

VQKCL

DISCHARGE PORT P2 24.5

SUCTION PORT 86

4-M16x2.0P DEEP 19

4-M10x1.5P DEEP 19

26.2

DISCHARGE PORT P2 24.5

4-M10x1.5P DEEP 195
2

.4

26.2

457.5

129 83

67

55

3

1
7

2

1
4

0

1
1

7

273

228.6

2
2

8
.6

1
5

2
.4

+
0

-0
.0

5

+
0

-0
.1

8
4

2
.3

6+
0

-0
.0

2
1

3
8

.1

SUCTION PORT 86

69.9 35.7

6
9

.9

30 13

+
0

-0
.0

2
1

9
.5

4

+
0

-0
.0

2
1

3
8

.1

DISCHARGE PORT P1 38

4-M12x1.75P DEEP 20

Foot Type ( )

Foot Type ( )

457.5

164 129 81.3 54

39

185

280

374.6

438

3
0

1
8

7
.3

3
2

7
.3

4- 22 HOLES

43 SPOT FACER 1 DEEP

4- 22 HOLES

35 SPOT FACER 1 DEEP

43 SPOT FACER 1 DEEP

4- 22 HOLES

+
0

-0
.0

2
1

9
.5

4

3
8

.1
+

0
-0

.0
2

1

4-M16x2.0P DEEP 19

DISCHARGE PORT P1 38

4-M12x1.75P DEEP 20

4- 22 HOLES

35 SPOT FACER 1 DEEP

3
8

.1
+

0
-0

.0
2

1

+
0

-0
.1

8
4

2
.3

6

81

512.5

2
2

3

1
2

0
.7

+
0

-0
.0

5
1

5
2

.4

114.3 39

185

22



1
1

7

1
4

0

136179

501

55

43

67

83

DVQ435

30.2

5
8

.7

77.8 35.7

6
9

.9

1330

1
2

7

228.6

273

2
2

8
.6

30.2

1
4

0

1
1

7

VQ435

506

179 136

55

67

8351

77.8
117.5

211

181

506
179

59

9576.2

131

8351136

2

274

117.5

2
1

7

1
0

9
.5

3

1
3

0
.2

1
3

0
.2

5
8

.7

VQ Series Double  Pump Dimensional Drawing

VQKCL

SUCTION PORT 101

4-M16x2.0P DEEP 19

6
9

.9

9
.5

4
+

0
-0

.0
2
1

4-M12x1.75P DEEP 20

35.7

DISCHARGE PORT P1 38

DISCHARGE PORT P2 30

4-M10x1.5P DEEP 19
4

2
.3

6
+

0
-0

.1
8

+
0

-0
.0

2
1

3
8

.1

2- 17.5 HOLES

26 SPOT FACER 1 DEEP

+
0

-0
.0

5

1
7

5

9
8

.5

151

Foot Type ( )

26 SPOT FACER 1 DEEP

4- 17.5 HOLES

DISCHARGE PORT P1 38

4-M12x1.75P DEEP 20

4-M16x2.0P DEEP 19

SUCTION PORT 101

4-M10x1.5P DEEP 19

DISCHARGE PORT P2 30

9
.5

4
+

0
-0

.0
2
1

3
8

.1
+

0
-0

.0
2
1

4
2

.3
6

+
0

-0
.1

8

+
0

-0
.0

2
1

3
8

.1

+
0

-0
.0

5
1

5
2

.4

35 SPOT FACER 1 DEEP

4- 22 HOLES

Foot Type ( )

501

8343136179

54

374.6

438

280

43 SPOT FACER 1 DEEP

4- 22 HOLES

3
2

7
.3

1
8

7
.3

3
0

21 13

23



SVQ435

VQ Series Double  Pump Dimensional Drawing

VQKCL

SUCTION PORT 101

DISCHARGE PORT P1 38
4-M16x2.0P DEEP 19

DISCHARGE PORT P2 30

4-M10x1.5P DEEP 19

1
3
0
.2

6
9
.9

9
.5

4
+

0
-0

.0
2

1

35.777.8

28 13

3
8
.1

+
0

-0
.0

2
1

4
2
.3

6
+

0
-0

.1
8

556

179 189.5 50 81

65

55

1
5
2
.4

+
0

-0
.0

51
1
7

1
4
0

35 SPOT FACER 1 DEEP

4- 22 HOLES

2
2
8
.6

228.6

273

30.2

5
8
.7

4-M12x1.75P DEEP 20 Foot Type ( )

280

374.6

438

3
0

1
8
7
.3

3
2
7
.3

43 SPOT FACER 1 DEEP

4- 22 HOLES

47.581.3189.5179

556

114.3

185

39

24



VQ SERIES DOUBLE PUMP PARTS LIST

VQ

VQ215
VQ225
VQ325
VQ425
VQ435

SVQ215
SVQ315
SVQ425
SVQ435
DVQ425
DVQ435

  VQ Series Double  Pump Decomposition Chart

VQKCL

Bearing ( )

Cartridge Kit (P1- )

Housing ( )

Screw ( )

O-Ring ( O )

Housing ( )

NO.10

Key ( )

Shaft ( )

NO.7

NO.9

NO.8

NO.5

NO.4

NO.3

NO.6

Retainer Ring ( )

Seal ( )NO.2

NO.1 O-ring & Endless (P1- ( ))

O-ring & Endless (P1- ( ))

Back-Up Ring (P1- ( ))

Back-Up Ring (P1- ( ))

NO.12

NO.11

NO.13 O-Ring ( )

Cartridge Kit (P2- )NO.14

NO.15

NO.16 O-ring & Endless (P2- ( ))

O-ring & Endless (P2- ( ))

Back-Up Ring (P2- ( ))

Back-Up Ring (P2- ( ))

End cover ( )NO.17

NO.18 Screw ( )

(DVQ)

(SVQ)

25



VQ Series Triple  Pump Ordering Code

VQKCL

Suction Port Position

(view from Shaft End)

Shaft Type

Discharge Port Position

(P2) Shaft End Pump

(view from Shaft End)

Discharge Port Position

(P3) Shaft End Pump

(view from Shaft End)

Discharge Port Position

(P1) Shaft End Pump

(view from Shaft End)

Port connection variables

DVQ2215  -  65  -  38  -  17  -  F  -   R  - A  A  A  A  -  01 -  02

Series Number

39.131.3 46.926.126

DVQ20

 ( P2 )

DVQ25

 ( P1 )

78.462.7 94.152.352
72.7

90.0
78.3

60

75
65

75.0

60.2
65.3

90.3

112.5
97.9

108.3
117.5

37.3

9.7
7.4

31.3
27.9
23.0
20.5
17.1
13.4

26.5
31.4

40.8

21.7

45.9
52.9

45.8

56.5
51.8

38.5

38.3
34.134

32 32.1

26

43
38

47

32

38

22
18
44

26.2

43.2
47.1

38.2
32.1

44.1

22.1
18.1

38.1

14
17

26
23
19

31

08
06

11
14.3

23.3
26.1

17.1
19.2

6.2
8.1

11.2

31.1

50.4
47.6

33.3
39.3

27.2

57.3
64.8
70.0

48.1
47.1

77.7
85.0

57.7
68.7

39.8
32.6

46.6

12.1

25.6
21.5

39.1
34.9
28.8

13.4

9.3

25.7

41.9
46.9

30.7
34.5

11.2

20.1
14.6

F:Flange Type

L:Foot Type

Mounting Type

Shaft Rotation

(view from Shaft End)

P2:Discharge Port

Shaft End c.c /rev

P3:Discharge Port

Shaft End c.c /rev

P1:Discharge Port

Shaft End c.c /rev

Model

R:Clockwise

L:Anti-Clockwise

VQ15

 ( P3 )

6

5

4

3

2

9.7
7.4

17.1
13.4

1200

Running Speed

23.0
27.9

20.5

Deliver Flow (  /min) at no-load pressure

08

14
11

19
23

17

06
8.1

17.1
19.2
23.3

14.3
11.2

1000
6.2

1500

21.5
13.4
12.1

(rpm)

28.8
34.9

25.6

9.3
14.6

30.7
34.5
41.9

25.7
20.1

1800
11.2

12

11

9

10

8

DVQ2215

1

1 32 4 5

7

6 7 8

A: Upward   (normal) 

B: Downward

R: Right Hand

L: Left Hand

2408001800 210

2608001800 210
1800

1500
1800

800

800
800

260

230
230

210
210
210

8001500
1500 800

1800

1800
1800

1800
1800

1800
1800

1200
1200

800

800
800

800
800

800

800
800

800

1800

1800
1800
1800
1800

1500

1800
1800

1800
800

800
800

800
800

800
800
800

800

240
240

175
175

260
260

240

260
210

260
260

260
260

210

210
210

210
210

175

210
210

175

240
260
260

260
260
260
260
260

260
210

210
210

210
210

210

210
210

175

B

22.2

17.5

Cont.

(rpm)

1800

1800
1800

1800
1800
1800

1800

Max

800

800

800
800

800
800

Min

800

Running Speed

01

02

2

Peak.

240
240
240
240

240
240

240

210

210
210
210

210
210

( Kgf/cm  )

210

Max Pressure

P3

02

01

A

47.6

38.1

C

19.05

15

109 11 12

26

Administrator
矩形

Administrator
矩形

Administrator
矩形



VQ Series Triple  Pump Dimensional Drawing

VQKCL

22.2

19.05

 13.4

SAE B splined shaft

Class 1-J498 b 16/32d.p.

angle flat root side fit

NO.5 Shaft

M12 x 24.0-DEEP-4 HOLES

SAE BB

Splined shaft

Class 1-J498 b 16/32d.p.

angle flat root side fit

2
5
.4

MOUNTING TORQUE 117-ft.lbs

NO.3 Shaft

45.5

24.5

(159 Nm)

40.7

Cont.  : 210 Kg/cm

38.1

47.6

146

174.5

A

7
5

01

02

P3 17.5

22.2

73

B

15

C

A

M10 x 19.0-DEEP-4 HOLES

M10 x 19-DEEP-4 HOLES

P3 C

Peak.  : 240 Kg/cm

P3

2

2

4
7

.6 P2

B

MOUNTING TORQUE 117ft.lbs

(54Nm)

Key 7.0

M8 x 16 DEEP

MOUNTING TORQUE 40ft.lbs

2
2
.2

3

24.5

38.1

NO.6 Shaft

2
8

+
0

-0
.0

3

71.4

splined shaft Class

1-J498 b 12/24 d.p.

angle flat root side fit

38.1

NO.7 Shaft

(159 Nm)

+0
-0.05

55.2

3
1
.7

5

NO.2 Shaft

58.2

31.7

103.1

P1 25.4 mm

Peak. : 260 Kg/cm
Cont. : 210 Kg/cm2Cont. : 210 Kg/cm

95.06

357.2

93.6

P2 19.05 mm

Peak. : 260 Kg/cm

8
8

.9
S:  56

M10 x 19.0-DEEP-4 HOLES

50.8

2

5
2

.4 P1

26.2

9.7

12.7

2

71.4

38.1

7.9

38.1 9.7

2
8
.2

2
 M

ax

M8 x 16 DEEP

Key6.35

+
0

-0
.0

3
2
5
.4

+0
-0.05

+0
-0.05

2
8

.2
2

 M
A

X
.

No .1 Shaft

M8 x 16 DEEP

2

2
5

.4
+

0
-0

.0
3

KEY 6.35

+
0

-0
.0

5
1

0
1

.6

S

DVQ2215

7
5

6
0

7
8

7
7

27



DVQ4325  -  237  -  116  -  52  -  F  -   R  - A  A  A  A  -  01

A:Upward   (normal) 

B:Downward

R:Right Hand

L:Left Hand

Discharge Port Position

(P1) Shaft End Pump

(view from Shaft End)

Foot Type : 123 Kg

Flange Type : 92 Kg

DVQ 4325Series Number

Weight :

136,156,189
200,216,237

P1:Discharge Port

Shaft End c.c /rev

F:Flange Type

L:Foot Type

Mounting Type

R:Clockwise

L:Anti-Clockwise

Shaft Rotation

(view from Shaft End)

DVQ4325

Suction Port Position

(view from Shaft End)

01Shaft Type

1 642 3 5 87 9 10 11

P2:Discharge Port

Shaft End c.c /rev

60,66,76,82,88
94,108,116,125

P3:Discharge Port

Shaft End c.c /rev
18,22,26,32,38,43
47,52,60,65,75

Discharge Port Position

(P2) Shaft End Pump

(view from Shaft End)

Discharge Port Position

(P3) Shaft End Pump

(view from Shaft End)

8

7

6

5

4

3

2

1

9

10

11

A:Upward   (normal) 

B:Downward

R:Right Hand

L:Left Hand

A:Upward   (normal) 

B:Downward

R:Right Hand

L:Left Hand

A:Upward   (normal) 

B:Downward

R:Right Hand

L:Left Hand

VQ Series Triple  Pump Ordering Code

VQKCL

28



12.7

1
4
0

1
1
9

9
2

7
5

113 166

587

142 42.9

1
3
0
.2

26.2

5
2
.4

30.1

5
8
.7

77.8 35.7

30

2

55

83

6
9
.9

2
2
8
.6

228.6

273

DVQ4325
113 42.9

587
166 142

55

83

VQ Series Triple  Pump Dimensional Drawing

VQKCL

114.3

185

39 438
374.6
280

3
0

1
8
7
.3

3
2
7
.3

4- 22 HOLES

43 SPOT FACER 1 DEEP

Foot Type ( )

SUCTION PORT 101.6

4-M16x2.0P DEEP 19

DISCHARGE PORT P1 38

4-M12x1.75P DEEP 20

DISCHARGE PORT P2 30.5

4-M10x1.5P DEEP 19

DISCHARGE PORT P3 24.5

4-M10x1.5P DEEP 19

9
.5

4
+

0
-0

.0
1

5

+0
-0.1

1
5
2
.4

+
0

-0
.0

5

4
2
.3

6
+

0
-0

.1
8

+
0

-0
.0

2
1

3
8
.1

29



VQ Series Four Layer  Pump Ordering Code

VQKCL

Suction Port Position

(view from Shaft End)

(S1)

Shaft Type

Discharge Port Position

(P2) Shaft End Pump

(view from Shaft End)

Discharge Port Position

(P3) Shaft End Pump

(view from Shaft End)

Discharge Port Position

(P1) Shaft End Pump

(view from Shaft End)

Port connection variables

(P4

DVQ22115  -  65  -  38  -  26  -  17  - F  -   R  - A  A  A  A A  A -  01 -  02

Series Number

39.131.3 46.926.126

DVQ20

(P2~P3)

DVQ25

 ( P1 )

78.462.7 94.152.352
72.7

90.0
78.3

60

75
65

75.0

60.2
65.3

90.3

112.5
97.9

108.3
117.5

37.3

9.7
7.4

31.3
27.9
23.0
20.5
17.1
13.4

26.5
31.4

40.8

21.7

45.9
52.9

45.8

56.5
51.8

38.5

38.3
34.134

32 32.1

26

43
38

47

32

38

22
18
44

26.2

43.2
47.1

38.2
32.1

44.1

22.1
18.1

38.1

14
17

26
23
19

31

08
06

11
14.3

23.3
26.1

17.1
19.2

6.2
8.1

11.2

31.1

50.4
47.6

33.3
39.3

27.2

57.3
64.8
70.0

48.1
47.1

77.7
85.0

57.7
68.7

39.8
32.6

46.6

12.1

25.6
21.5

39.1
34.9
28.8

13.4

9.3

25.7

41.9
46.9

30.7
34.5

11.2

20.1
14.6

F:Flange Type

L:Foot Type

Mounting Type

Shaft Rotation

(view from Shaft End)

P2:Discharge Port

Shaft End c.c /rev

P3:Discharge Port

Shaft End c.c /rev

P1:Discharge Port

Shaft End c.c /rev

Model

R:Clockwise

L:Anti-Clockwise

VQ15

 ( P4 )

6

4

3

2

9.7
7.4

17.1
13.4

1200

Running Speed

23.0
27.9

20.5

Deliver Flow (  /min) at no-load pressure

08

14
11

19
23

17

06
8.1

17.1
19.2
23.3

14.3
11.2

1000
6.2

1500

21.5
13.4
12.1

(rpm)

28.8
34.9

25.6

9.3
14.6

30.7
34.5
41.9

25.7
20.1

1800
11.2

14

11

9

10

8

DVQ22115

1

1 32 4 5

7

6 7 8

A Upward   (normal) 

B Downward

R Right Hand

L Left Hand

2408001800 210

2608001800 210
1800

1500
1800

800

800
800

260

230
230

210
210
210

8001500
1500 800

1800

1800
1800

1800
1800

1800
1800

1200
1200

800

800
800

800
800

800

800
800

800

1800

1800
1800
1800
1800

1500

1800
1800

1800
800

800
800

800
800

800
800
800

800

240
240

175
175

260
260

240

260
210

260
260

260
260

210

210
210

210
210

175

210
210

175

240
260
260

260
260
260
260
260

260
210

210
210

210
210

210

210
210

175

B

22.2

17.5

Cont.

(rpm)

1800

1800
1800

1800
1800
1800

1800

Max

800

800

800
800

800
800

Min

800

Running Speed

01

02

2

Peak.

240
240
240
240

240
240

240

210

210
210
210

210
210

( Kgf/cm  )

210

Max Pressure

P4

02

01

A

47.6

38.1

C

19.05

15

109 14 1511 12 13

P4:Discharge Port

Shaft End c.c /rev

5

Suction Port Position

(view from Shaft End)

(S2)

12

Discharge Port Position

(P4) Shaft End Pump

(view from Shaft End)

P4

13

15

30

Administrator
矩形

Administrator
矩形

Administrator
矩形



VQ Series Four Layer Dimensional Drawing

VQKCL
DVQ22115

DEEP 17
4-M10x1.5P

( P1 )

1
1
3
.3

( P4 )

54.4

( P3 )

64.9

( S2 )

94

( P2 )

1
4
5
.5

( S1 )

95.5

549.8

104

1
0
3
.6

A

4
7

.6

4-M10x1.5P

DEEP 17
4-M10x1.5P

B 26.2

 P4

5
2
.4

S2

DEEP 17

22.2 22.2

4
7

.6

 P3  P2

21 SPOT FACE 1 DEPTH

KEY 7.0

+
0

-0
.0

2
1

2
8

36

9.5
38.1 61

58

4

2- 13.5 HOLES

1
0
1
.6

+
0

-0
.0

5

1
2
6

171

146

3

9.5

DEEP 17

4-M10x1.5P

4-M10x1.5P

DEEP 17

50.8
8
8
.9

S1

26.2

4-M12x1.75P

DEEP 19

5
2
.4

 P1

12

+
0

-0
.0

2
1

7
+0
-0.021

 P4 S2

 P3

P2

S1

 P1

SUCTION PORT 56

SUCTION PORT 30.8

( P2 )
DISCHARGE PORT

DISCHARGE PORT 15
( P3 )

19

( S1 )

DISCHARGE PORT
( P1 )

DISCHARGE PORT  C

( P4 )

( S2 )
25

NO 1 Shaft

17.5

22.2

P4 01

02

38.1

47.6

A

19.05

B C

15

Cont. : 210 Kg/cm
Peak. : 260 Kg/cm

2

2

Cont.  : 210 Kg/cm
Peak.  : 240 Kg/cm

2

2

P1~P2~P3: P4:

2
8

+
0

-0
.0

2
1

31



Typical Performance Characteristics (VQ Series)
VQ

/m
in

 O
u
tp

u
t 

F
lo

w

/m
in

 O
u
tp

u
t 

F
lo

w

/m
in

 O
u
tp

u
t 

F
lo

w

In
p
u
t 

P
o
w

er
 (

K
w

)

In
p
u
t 

P
o
w

er
 (

K
w

)

In
p
u
t 

P
o
w

er
 (

K
w

)

15

14

13

12

11

10

9

8

7

22

20

18

16

14

12

10

8

35

30

25

20

15

10

0

2

4

6

8

10

0

2

4

6

8

0

4

8

12

16

VQ15-8 VQ15-11 VQ15-19

1800rpm

1500rpm

1200rpm

1800rpm

1500rpm

1200rpm

0 35 70 105 140 175 210 0 35 70 105 140 175 210 21017514010570350 245

Pressure Kgf/cm Pressure Kgf/cm Pressure Kgf/cm

1800rpm

1500rpm

1200rpm

1000rpm

1000rpm

1200rpm

1500rpm

1800rpm

/m
in

 O
u
tp

u
t 

F
lo

w

18

16

20

24

22

26

VQ15-14

0 7035 105 140 In
p
u
t 

P
o
w

er
 (

K
w

)

245210175

Pressure Kgf/cm

140

Pressure Kgf/cm

1000rpm

1200rpm

1500rpm

1800rpm

70 105350

28

30

26

24

20

22

/m
in

 O
u

tp
u

t 
F

lo
w

VQ15-17

245175 210 In
p
u
t 

P
o
w

er
 (

K
w

)

1000rpm

1200rpm

1500rpm

1800rpm

Pressure Kgf/cm

0

25

20

30

7035 105 140

40

35

45

VQ15-23

In
p
u
t 

P
o
w

er
 (

K
w

)

245210175
0

8

4

12

16

/m
in

 O
u

tp
u

t 
F

lo
w

14

12

10

10

8

6

4

2

0

12

14

0

2

4

6

8

10

12

14

16

2018

16

14

15

2 2 2

2

22

KCL

32



/m
in

 O
u
tp

u
t 

F
lo

w

In
p
u
t 

P
o
w

er
 (

K
w

)

Pressure Kgf/cm

50

40

30

20

0

5

10

15

20

25

0 35 70 105 140 175 210 245

105

/m
in

 O
u
tp

u
t 

F
lo

w

350

10

70

In
p

u
t 

P
o

w
er

 (
K

w
)

140 175

15

245210

5

0

10

20

20

/m
in

 O
u
tp

u
t 

F
lo

w

105350 70

In
p

u
t 

P
o

w
er

 (
K

w
)

140 175

10

245210
0

5

20

15

25

30

40

50

VQ15-26

VQ25-18

VQ25-26

40

30

20

Pressure Kgf/cm

Pressure Kgf/cm

1800rpm

1500rpm
1200rpm
1000rpm

1000rpm

1200rpm

1500rpm

1800rpm

1000rpm

1200rpm

1500rpm

1800rpm

1200rpm25

/m
in

 O
u

tp
u

t 
F

lo
w

1800rpm

1500rpm

1200rpm
1000rpm

1000rpm

Pressure Kgf/cm

Pressure Kgf/cm

105

105

30

/m
in

 O
u

tp
u

t 
F

lo
w

700 35

20

VQ25-32

35

50

40

0 70

15

In
p

u
t 

P
o

w
er

 (
K

w
)

210 245175140

5

10

15

20

25

In
p

u
t 

P
o

w
er

 (
K

w
)

0
140 175 245210

20

10

5

15

1800rpm

1500rpm

1000rpm

1200rpm

1500rpm

1800rpm

Pressure Kgf/cm

105

/m
in

 O
u

tp
u

t 
F

lo
w

VQ25-22

35

35

45

0 70

20

30

VQ15-31

40

50

In
p

u
t 

P
o

w
er

 (
K

w
)

140 175 245210
0

25

15

10

5

20

30

60

25

30

60

2 2

2

2

2

2

Typical Performance Characteristics (VQ Series)
VQKCL

33



/m
in

 O
u

tp
u

t 
F

lo
w

In
p

u
t 

P
o

w
er

 (
K

w
)

70

0
0 35 70 105 140 175 210 245

VQ25-38

VQ25-52

Pressure Kgf/cm

1800rpm
1500rpm

1200rpm
1000rpm

Pressure Kgf/cm

35

/m
in

 O
u

tp
u

t 
F

lo
w

0

1200rpm

21070 105 175140

1000rpm

In
p

u
t 

P
o

w
er

 (
K

w
)

245

1500rpm

1800rpm

Pressure Kgf/cm

210350 70 140105 175

In
p

u
t 

P
o

w
er

 (
K

w
)

245

/m
in

 O
u

tp
u

t 
F

lo
w

VQ25-65

1500rpm

1800rpm

1200rpm

1000rpm

10

20

30

40

60

50

40

30

0

10

20

30

40

40

30

20

10

0

50

60

60

50

70

80

90

100

110

120

100

90

80

70

60

50

50

40

Pressure Kgf/cm

210350 70 140105 175

20

In
p

u
t 

P
o

w
er

 (
K

w
)

10

0
245

50

40

30

60

70

80

90

100

40

60

70

50

Pressure Kgf/cm

/m
in

 O
u

tp
u

t 
F

lo
w

/m
in

 O
u

tp
u

t 
F

lo
w

210

1800rpm

1500rpm

1200rpm
1000rpm

VQ25-60

350 70 140105 175

20

In
p

u
t 

P
o

w
er

 (
K

w
)

10

0
245

40

30

1000rpm

1200rpm

1500rpm

1800rpm

VQ25-43
80

110

2 2

22

2

Typical Performance Characteristics (VQ Series)
VQKCL

140

130

120

110

100

90

70

80

/m
in

 O
u

tp
u

t 
F

lo
w

1000rpm

210

Pressure Kgf/cm

350 70
2

140105 175

In
p

u
t 

P
o

w
er

 (
K

w
)

0

10

20

245

60

50

30

40

1200rpm

1500rpm

VQ25-75

34



/m
in

 O
u

tp
u

t 
F

lo
w

In
p

u
t 

P
o

w
er

 (
K

w
)

0
0 20 40 60 80 100120140

VQ35-66

1800rpm

1500rpm

1200rpm

1000rpm

10

20

30

40

120

110

100

VQ35-82

90

80

70

60

50

160180 210 40
/m

in
 O

u
tp

u
t 

F
lo

w
0 20

80

90

140

120

100

110

130

1801208060 100 140160

In
p

u
t 

P
o

w
er

 (
K

w
)

210

10

0

60

50

40

30

20

1800rpm

1500rpm

1200rpm

1000rpm

150

40

VQ35-88

/m
in

 O
u

tp
u

t 
F

lo
w

0 20

160

120

80

100

140

1801208060 100 140160

In
p

u
t 

P
o

w
er

 (
K

w
)

210

10

0

60

50

40

30

20

1800rpm

1500rpm

1200rpm
1000rpm

1000rpm/m
in

 O
u

tp
u

t 
F

lo
w

400 20

80

1801208060 100 140160

In
p

u
t 

P
o

w
er

 (
K

w
)

0
210

50

40

30

20

10

60

VQ35-94

140

100

120

160

1200rpm

1500rpm

1800rpm

60

1000rpm

/m
in

 O
u

tp
u

t 
F

lo
w

400 20

140

1801208060 100 140160

In
p

u
t 

P
o

w
er

 (
K

w
)

0
210

80

60

40

20

VQ35-108

200

160

180

220

1200rpm

1500rpm

1800rpm

100

/m
in

 O
u

tp
u

t 
F

lo
w

40200 60 80

VQ35-116

In
p

u
t 

P
o

w
er

 (
K

w
)

180160140 210120

1800rpm

1500rpm

1200rpm

1000rpm

/m
in

 O
u

tp
u

t 
F

lo
w

VQ35-125

1000rpm

1200rpm

1500rpm

10080600 20 40

In
p

u
t 

P
o

w
er

 (
K

w
)

120 210140160180

180

120

100

0

20

40

60

80

100

0

20

40

60

80

100

100

120

140

160

180

200

220

100

120

140

160

180

200

220

240

Pressure Kgf/cm
2

Pressure Kgf/cm
2

Pressure Kgf/cm
2

Pressure Kgf/cm
2

Pressure Kgf/cm
2

Pressure Kgf/cm
2

Pressure Kgf/cm
2

Typical Performance Characteristics (VQ Series)
VQKCL

35



/m
in

 O
u

tp
u

t 
F

lo
w

In
p

u
t 

P
o

w
er

 (
K

w
)

280

0 35 70 105 140 175

VQ45-136

10

20

30

40

260

240

220

200

180

160

140

120

50

60

0

VQ45-156

100

180

120

140

160

220

200

240

260

14070350 105

In
p

u
t 

P
o

w
er

 (
K

w
)

0
175

60

30

10

20

40

50

280

/m
in

 O
u
tp

u
t 

F
lo

w

300

70

80

90

100

110

180

160

280

220

200

240

260

/m
in

 O
u

tp
u

t 
F

lo
w

14070350 105

In
p

u
t 

P
o

w
er

 (
K

w
)

175

VQ45-189

110/m
in

 O
u

tp
u

t 
F

lo
w

0 35 70
0 In

p
u

t 
P

o
w

er
 (

K
w

)

105 140 175

60

50

40

20

30

10

100

90

70

80

VQ45-216

/m
in

 O
u

tp
u

t 
F

lo
w

1401050 35 70 175

In
p

u
t 

P
o

w
er

 (
K

w
)

VQ45-237

300

320

340

340

320

300

280

260

240

220

200

180

360

110

100

90

80

70

60

50

40

30

20

10

0

120

130

120

130

140

200

220

240

260

280

300

320

340

360

380

400

420

440

0

10

20

30

40

50

60

70

80

90

100

110

120

130

140

1800rpm

1500rpm

1200rpm

1000rpm

70

80

90

100

1800rpm

1500rpm

1200rpm

1000rpm

1800rpm

1500rpm

1200rpm

1000rpm

1800rpm

1500rpm

1200rpm

1000rpm

1500rpm

1200rpm

1000rpm

Pressure Kgf/cm
2

Pressure Kgf/cm
2

Pressure Kgf/cm
2

Pressure Kgf/cm
2

Pressure Kgf/cm
2

Typical Performance Characteristics (VQ Series)
VQKCL

36



Variable Displacement  Vane Pump Care in Application

Drain Pipe
External drain control type. Drain connection

must be piped directly to tank and back

pressure must not exceed 0.3 bar.

Oil Temperature Range

Alignment and
   Installation of Pumps
In case the pump is connected to an electric

motor limit the defecttion of the alignment

between the shafts to 0.05 mm TIR and angle

Be sured the electric motor direction is

accordingly with the pump's shaft before

starting.

Suction Port min. Pressure
Suction port minimum working pressure is

Pressure Adjustment
The pressure will be increased with the pressure

adjusting screw is turned clockwise and will be

reduced when the adjusting screw is turned

counter-clockwise.

Cautions for Starting
When the pump is to be operated for the first

time place the pump delivery side in NO-Load

condition and repeat starting and stopping of

the motor for several times to eject the air from

inside of the pump and piping. If keep on 10

minutes operation will be much better.

7. (VG32)

8.

0.3bar

9.

10. 0.05m/m

11. 0.03bar

Power Unit Circuit
In variable displacement vane Pump systems

the close circuit is recommended.

Sharp Characteristics
 and Quick Response
Quick response is displayed in both off-on

control of operation due to use special design

"BIAS PISTON".Stable and accurate operation

can be attained in an instant.

Low Noise Level
(even in the high pressure range)
The noise level(dB)is very low even in the high

pressure duty to used of "JOURNAL BEARING"

special setting and shape modification of the

suction and delivery ports.

Energy Saving Type
Power loss has been reduced further by

application of our highly advanced precision

machining technology to assure the same high

efficiency performance as the series with many

new mechanisms of our new design.

Sturdy Structure for Durable Life
High durability is assured by the sturdy

construction based on our rich experience and

know how as well as strict selection of materials

and high precision machining.

Stable and highly efficient performance is

possible even under severe operating conditions.

Shaft Rotation
Clockwise rotation viewed from the shaft end is

standard.

Fluids Permissible
When working pressure lower than 70 bar

Hydraulic oil with a viscosity from 30 ~ 50(cst)

1.

2.

3. 70kgf/cm

4.

5.

6.

Care in Application

SYMBOL

2

KCL

37



Shaft Type

B: NPT
C: SAE

A or No Marking: PT

Type of Suction Port & Discharge Port

Variable Single Pump Features & Ordering Code

Rated

MAX

1800

1:5-18
Pressure Adjusting Range

02:No.02 Shaft

01:No.01 Shaft

ORDERING CODE

VPKC-F*A*-01-A

VPKCF8
VPKCF12
VPKCF15
VPKCF20

FEATURES

VPKCF8

VPKCF12

VPKCF15

VPKCF20

Model ( Kgf / cm )

 A2:15-35

  A4:50-70

A1: 5-18

A3:30-55

Operating Pressure

SYMBOL

2

5.2Kg

( Kgf/cm  )

8,12,15,20  ( /min )

Output Flow at 1800rpm

2:15-35

4:50-70

Series Number

Flange Type

3:30-55
2

800

Speed

MIN

4.8Kg

4.8Kg

5.2Kg

Net

Weight

A3:30-55

A1: 5-18

  A4:50-70

 A2:15-35

A3:30-55

A1: 5-18

  A4:50-70

 A2:15-35

A3:30-55

A1: 5-18

  A4:50-70

 A2:15-35

1800 800

1800 800

1800 800

(rpm)

1 2 3 4 5 6
1

2

3

4

5

6

D: BSP

KCL

38



Variable Single Pump Dimensional Drawing

VPKC F8 & 12

VPKC F15 & 20

12.7NO.01-Shaft
NO.02-Shaft 15.88

A C
3.175
4.0

33.0
32.0

B D
14.3
17.6

NO: 03  Shaft
          9-Teeth splined

30 pressure angle

NO.03-Shaft Splined Shaft

26.4

KCL

Pressure Adjustment

Case Drain PT 1/4"

26

101

PT 3/8"
Discharge Port

65

Suction Port
PT 1/2"

11

103

124

50

126

42 30

12

19

66

12
5

DR

OUT

22

4

+0
-0.0213.175

+0
-0.02112.7

+0 -0
.1

2
14

.3

33 +0 -0
.0

5
82

.5
5

101
26

PT 3/8"
Discharge Port

Case Drain PT 1/4"

Suction Port
PT 1/2"

11

106

124

46 45 B

19 33

12

82
.5

5
+0 -0

.0
5

12
5

66

53

21

4

65
Pressure Adjustment

DR

OUT

+0
-0.021A

C +0
-0.021

+0 -0
.1

2
D

15
.5

+0 -0
.0

2

4

39



Double Pump

VPKCC- F**A*A*-01-A

VPKCCF12.12
VPKCCF15.15
VPKCCF20.20

Net Weight:9.5Kg

SYMBOL

8

7

1

5

3

2

( Kgf/cm  )

Type of Suction Port & Discharge Port

C: SAE
D: BSP

B: NPT

Shaft Type

Flange Type

Series Number

4:50-70

2:15-35

Output Flow

12,15,20  ( /min )

Pressure Range

3:30-55

1:5-18 2

1 432 5 6 7 8

Shaft End Pump at 1800rpm

4

12,15,20  ( /min )
Cover End Pump at 1800rpm
Output Flow

 of Shaft End Pump (P1)

6

( Kgf/cm  )

Pressure Range

2:15-35

4:50-70

 of Cover End Pump (P2)

3:30-55

1:5-18 2

A or No Marking: PT

Variable Double Pump  Ordering CodeKCL

ORDERING CODE

40



VPKCCF2020

Variable Double Pump Dimensional DrawingKCL

101
65

Pressure Adjustment

Case Drain PT 1/4"

PT 3/8"

Discharge PortSuction Port

PT 1/2"

26

Shaft EndShaft End

PT 1/2"

Suction Port

Cover End

PT 3/8"

Discharge Port
Cover End

1
1

106

124

DR 21

4

DR

OUT

OUT

19

3
3

+
0

-0
.0

5
8

2
.5

5

12

354568

196

+
0

-0
.1

2
1

7
.6

+0
-0.02115.88

+0
-0.0214

NO: 03  Shaft
          9-teeth spline

30 pressure angle

NO: 01 Shaft

26.4

1
5

.5
+

0
-0

.0
2

4

41



VPKCF23
VPKCF26
VPKCF30
VPKCF40

SYMBOL

FEATURES

ORDERING CODE

  A4:50-70A3:30-55

VPKCF40
A1: 5-18

A3:30-55

 A2:15-35

  A4:50-70

Model

VPKCF30

VPKCF26

VPKCF23

A1: 5-18

A1: 5-18

A3:30-55

Operating Pressure

A3:30-55

A1: 5-18

( Kgf / cm )

 A2:15-35

 A2:15-35

  A4:50-70

  A4:50-70

 A2:15-35

2

1800 800 9.0Kg

SpeedRated

1800

1800

1800

MAX

800

800

800

MIN

Net

Weight

9.0Kg

9.0Kg

9.0Kg

(rpm)

VPKC-F*A*-01-A
1

6

5

432 5 6 1

4

3

2

( Kgf/cm  )

Type of Suction Port & Discharge Port Type

C: SAE
D: BSP

B: NPT

Shaft Type

Flange Type

Series Number

4:50-70

2:15-35

Output Flow at 1800rpm

   23,26,30,40  ( /min )

Pressure Adjusting Range

3:30-55

1:5-18 2

A or No Marking: PT

Variable Single Pump Features & Ordering CodeKCL

42



VPKCF30

Variable Single Pump Dimensional DrawingKCL

4- 11

2-M12x1.75P

Case Drain PT 1/4"

PT 1/2"

Discharge Port

PT 3/4"

Suction Port

90

60 60

73

7
9
.5

8
6 8
6

1
4
2

Pressure Adjustment

4.76
+0
-0.021

Woodruff  Key

NO.607

+0
-0.021

19.05

+
0

-0
.1

2
2
1
.39
5
.0

2
+

0
-0

.0
3

152

61.5 36

36.5 25

4

4

15

22

OUT

CP. 1.633

30 Teeth

NO: 04 Shaft

4

20

36

NO: 05  Shaft
16/32 D.P.

          9-teeth spline

30 pressure angle

16/32 D.P.

11 Teeth

angle

NO: 03  Shaft

NO: 01 Shaft

26.4
4

1
5
.5

+
0

-0
.0

2

+
0

-0
.0

2

43



ORDERING CODE

VPKCCF23.23
VPKCCF26.26
VPKCCF30.30
VPKCCF40.40

SYMBOL

Net Weight:16Kg

Shaft End Pump at 1800rpm

( Kgf/cm  )

Cover End Pump at 1800rpm

Type of Suction Port & Discharge Port

( Kgf/cm  )

Shaft Type

A or No Marking: PT

B: NPT

D: BSP
C: SAE

8

 of Cover End Pump (P2)
Pressure Range

 of Shaft End Pump (P1)

Output Flow

Pressure Range

23,26,30,40  ( /min )

1:5-18

1:5-18

3:30-55

3:30-55

7

6

5

4

2:15-35

4:50-70

2:15-35

4:50-70
2

2

Output Flow

Series Number

Flange Type

Double Pump

3

2

1

23,26,30,40  ( /min )

VPKCC- F**A*A*-01-A
1 52 43 6 7 8

Variable Double Pump  Ordering CodeKCL

44



VPKCCF30.30

Variable Double Pump Dimensional DrawingKCL

2-M12x1.75P

4- 11 Case Drain PT 1/4"

PT 1/2"

Discharge Port

PT 3/4"

Suction Port

VOLUME ADJUSTMENT

Pressure Adjustment

Woodruff  Key

NO.607

P2 P1
OUT

OUT

22

15 9
5
.0

2
+

0
-0

.0
3

4

2536.548.536.5

3661.585

235

+0
-0.0214.76

+
0

-0
.1

2
2
1
.3

+0
-0.021

19.05

8
6

1
4
2

7
9
.5

8
6

CP. 1.633

30 Teeth

NO: 04 Shaft

4

20

36
NO: 01 Shaft

16/32 D.P.

11 Teeth

angle

NO: 03  Shaft

+
0

-0
.0

2

45



Variable Displacement Vane Pump Typical Performance Characteristics
/m

in
 O

u
tp

u
t 

F
lo

w

Input Power(kw)

VPKCF30

Input Power(kw)

Pressure Kgf/cm

Pressure Kgf/cm

0

5

10 20

/m
in

 O
u

tp
u

t 
F

lo
w

15

10

20

30

25

F
3
0
A

1
0

3

10 20

1.5

604030 50 70

60

F
3
0
A

2

F
3
0
A

3

4030 50

F
3
0
A

4

3

70

0.9

VPKCF15

Input Power(kw)

Pressure Kgf/cm

4

/m
in

 O
u

tp
u

t 
F

lo
w

15

9

6

12 F
1
5
A

1

0

2

10 20

VPKCF8

6

8

F
8
A

1

1

60

F
1
5
A

2

F
1
5
A

3

4030 50

F
1
5
A

4

1.8

70

0.5

F
8A

4

F
8
A

2

F
8A

3

Input Power(kw)

/m
in

 O
u

tp
u

t 
F

lo
w

60

60

/m
in

 O
u

tp
u

t 
F

lo
w

20

Pressure Kgf/cm

Input Power(kw)

0

5

10

15

10 4030 50

VPKCF40

20

Pressure Kgf/cm

25

20

30

40

35

F
4
0
A

1

0

4

10

F
4
0
A

2

F
4
0
A

3

4030 50

4

70

2

F
4
0
A

4

70

0.9

60

F
1
2
A

3

F
1
2
A

2

F
1
2
A

1
8

/m
in

 O
u

tp
u

t 
F

lo
w

VPKCF20

20

Pressure Kgf/cm

Input Power(kw)

20

12

8

16 F
2
0
A

1

2

0

4

6

10

F
2
0
A

2

F
2
0
A

3

4030 50

VPKCF12

10

12

F
1
2
A

4
F

2
0
A

4

1.8

0.5

70

1

KCL

46







KCL
Memo

49



50T&150T Series Single Pump Ordering Code

50T & 150T

ORDERING  CODE

50 T - 12 - F - R R - 01

50T
150T

Model
1200

Running Speed

at no-load pressureDelivery Flow (  /min)

1000 1500

(rpm)
( Kgf/cm  )

Max Pressure(rpm)

Running Speed

1800

Max Min

2

Weight(Kg)

Foot Type Flange Type

09

12

14

17

19

21

23

26

30

36

40

48

61

75

94

116

94.2

116.3

19.2

36.2

48.3

75.2

61.5

41.5

23.0

30.1

26.2

21.1

12.0

17.0

14.6

113.0

139.6

23.0

43.4

90.6

73.8

57.9

49.8

36.1

31.4

20.3

17.5

14.4

141.3

28.8

54.3

72.4

92.2

113.2

31.7

34.5

39.3

45.2

18.0

21.7

25.5

34.6

86.9

135.9

110.7

41.4

54.0

47.2

38.0

21.6

31.5

26.1

10.8 13.5 16.2

25.3

27.6

1800

1800

1800

1800

1800

1800

1800

1800

1800

1500

1200

1800

1800

1500

1500

1200

950

950

950

950

950

950

950

950

950

950

950

900

900

900

900

900

10

10

10

10

10

10

10

10

10

10

10

24

24

24

24

24

24

24

24

24

24

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

9.5

105

105

105

105

105

105

105

105

105

70

70

90

90

90

70

70

50T

150T

Shaft Type

Flange Type

Series Number

R: Clockwise

(Viewed From Shaft End)
Shaft Rotation

L: Foot Type

50T:09,12,14,17,19,21,23,26,30,36,40

Capacity Mark: (c.c/rev)

150T:48,61,75,94,116,125

T: Piping Type

Piping Mounting

R: On Right Hand

(Viewed From Shaft End)
Discharge Port Position

7

4

6

5

3

2 31 654
150T-
50T-

2

1

F: Flange Type

L: Anti-Clockwise

L:On Left Hand (normal

01: No.01 Shaft
02: No.02 Shaft

F: Flange Type( )

7

1200 900 24 24 70125 125.3 150.4

KCL

50



50T (Foot Type)

22.0

NO.01-Shaft 19.05

NO.02-Shaft

A

21.336.0 4.76

5.046.0 24.0

B C D E

32

30.0

50T (Flange Type)
D

21.3

24.0NO.02-Shaft

NO.01-Shaft

B

36.0

46.0

19.05

22.0

A C

4.76

5.0

32

30.0

E F

95.02

96.02

Suction Port

PT 1" PT 3/4"

Discharge Port

93

50 29.5

+
0

-0
.0

2
1

C

1
2

4

4- 11 HOLE

24 Spot facer 1 Deep

5
5

47

145

+0.2116 -0.2
47

5
0

1
3

7

7
5

1
5

140

119
+0.2
-0.290

5
5

5
0

-0
.2

+
0
.2

9
0 1

1
9

99 50 5 B
15

1
2

4

A
+

0
-0

.0
2
1

+
0 -0
.1

2
D

F
-0

.0
3

+
0

E 5

7
+

0
-0

.0
2
1

1
7

0

56

114
140

13

4- 13.5 HOLE

25.4 Spot facer 1 Deep

Suction Port

PT 1 1/2"

199.5

PT 1 1/4"

Discharge Port
7

67
6

50 50

197

226

1
8

6
.5

1
0

1
.5

1
7

13.5x6 HOLE
PCD 187.5

236
5 43

15

435

3
0

+
0

-0
.0

2
1

3
3

+
0 -0
.1

6

1
7

0

2
3

0

1
6

0
+

0 -0
.0

5

60

150T (Foot Type)

150T (Flange Type)

50T&150T Series Single  Pump Dimensional Drawing

50T & 150TKCL

Splined ShaftNO.04-Shaft

Splined ShaftNO.04-Shaft

CP. 1.633

30 Teeth

Shaft NO:04

5

36

51



V1:VQ15 Series
Hi -  pressure Fixed Vane Pump(Cover End)

Hi pressure Fixed Vane Pump (Cover End)
Capacity Mark (c.c/rev)
6, 8, 11, 14, 17, 19, 23, 26, 31

ORDERING CODE

150T+VQ15

50 T - 36 - L  R R - V1 - 17 - 01

50T+VQ15

Shaft Type

Flange Type

Series Number

R: Clockwise
(Viewed From Shaft End)
Shaft Rotation

L: Foot Type

50T:09,12,14,17,19,21,23,26,30,36,40
Capacity Mark: (c.c/rev)

150T:48,61,75,94,116,125

T: Piping Type
Piping Mounting

R: On Right Hand
(Viewed From Shaft End)
Discharge Port Position

9

4

7

6

5

3

2 31 654 87

150T-
50T-

2

1

F: Flange Type

L: Anti-Clockwise

L:On Left Hand (normal)

01:No.01 Shaft
02:No.02 Shaft

F: Flange Type

9

8

50T.150T+VQ15 Series Pump Ordering Code

50T & 150T + VQ15KCL

52



22.0

NO.01-Shaft 19.05

NO.02-Shaft

A

21.336.0 4.76

5.046.0 24.0

B C D E

32

30.0

1
0
0

5
2
.4

26.2 17.5

3
8
.1

1
7
0

35

5

5

60

114
140

43

56

7

56.5

5
2
.4

1
0
0

7
3

26.2

41.5

17.5

162

50 5

E

B
2

3
0

7
6

226

197

199.5

1
0

1
.5

7
6

1
8

6
.5

5
5

140
119

1
1

95
0

32

30.0

19.05

22.0NO.02-Shaft

NO.01-Shaft

A

5.0 24.046.0

C

4.7636.0

B D

21.3

E

95.02

96.02

F

KCL 50T&150T +VQ15Series  Pump Dimensional Drawing

50T & 150T+VQ15

50T+VQ15 (Foot Type)

50T+VQ15 (Flange Type)

150T+VQ15 (Flange Type)

150T+VQ15 (Foot Type)

C
+

0
-0

.0
2
1

29.550

93

Suction Port

PT 1"

4- 11

PT 3/4"

Discharge Port

4- 11 HOLE
24 Spot Facer 1 Deep

5
5

5
0

7
5

1
3
7

1
5

47+0.2
-0.2116

47

145

SUCTION PORT 30.8
4-M8x1.25P
DEEP 15

DISCHARGE
PORT 15 15

4-M10x1.5P
DEEP 17

3
8
.1

+
0

-0
.0

2
1

A

-0
.1

2
+

0
D

F
-0

.0
3

+
0

+
0

-0
.0

2
1

4- 13.5 HOLE
25.4 Spot Facer 1 Deep

Suction Port

PT 1 1/2" PT 1 1/4"

Discharge Port

5050

1
7

13

365

15256.5

DISCHARGE
PORT 15

SUCTION PORT
30.8

4-M10x1.5P
DEEP 17

4-M8x1.25P
DEEP 15

15

13.5x6 HOLE
PCD 187.5

1
6
0

-0
.0

5
+

0
-0

.1
6

3
3

+
0

+
0

-0
.0

2
1

3
0

4-M12x1.75P
DEEP 19

-0.2
+0.2

90

+
0
.2

-0
.2

9
0

5

36

5

Shaft NO:04
CP. 1.633

30 Teeth

NO.04-Shaft Splined Shaft

NO.04-Shaft Splined Shaft

53



Discharge Port Position
(Viewed From Shaft End)
R: On Right Hand

Piping Mounting

T: Piping Type

150T:48,61,75,94,116,125

Capacity Mark: (c.c/rev)

50T:09,12,14,17,19,21,23,26,30,36,40

L: Foot Type

Shaft Rotation
(Viewed From Shaft End)
R: Clockwise

Series Number

Flange Type

Shaft Type

ORDERING CODE

50 T - 36 - L  R R - G - PA5 - 01

150T+PA
50T+PA

1.07PA1

L:On Left Hand (normal)

L: Anti-Clockwise

50T-
150T-

F: Flange Type

PA4

PA5

PA3

PA2

4.01

6.05

3.01

2.02

F: Flange Type

(c.c/rev)

(Cover End)

Gear Pump

High-Pressure

CapacityModel

02: No.02 Shaft

01: No.01 Shaft

1 432 5 6 7 8

6

5

1

4

3

2

8

7

KCL 50T&150T +PA Series  Pump Ordering Code

50T & 150T+PA

54



235

1
7
0

5
0
.8

172

15

114
140

13

56

5
35

5

43

7

4

80

63.6

1
2
51

4
.3

5
0
.6

18

207

550

1
1
9

A D

5
5

E

B

5
0

140
119

140

19.05

22.0NO.02-Shaft

NO.01-Shaft

A

30.0

32

C

5.0

4.76

46.0

B

36.0

24.0

21.3

D E

19.05

22.0

A

NO.02-Shaft

NO.01-Shaft 4.76

B

46.0

36.0

DC

5.0

21.3

24.0

E

32

30.0

F

95.02

96.02

50T&150T +PA Series  Pump Dimensional Drawing

50T & 150T+PAKCL
50T+PA (Foot Type)

50T+PA (Flange Type)

150T+PA (Foot Type)

150T+PA (Flange Type)

+
0

-0
.0

2
1

C
29.550

93

4- 11 HOLE
24 Spot Facer 1 Deep

5
5 1
3
7

7
5

5
0

1
5

47+0.2
-0.2

145

116
47

5

4- 11

PT 3/4"

Discharge Port

+
0

-0
.0

2
1

-0
.1

2
+

0 9
0

-0
.2

+
0

.2

+0.2
-0.290

F
+

0 -0
.0

3

4-M8x1.25P
DEEP 15

12.5
+0.021
+0

+0.021
+0

+
0

.1
+

0

+
0

+
0

.0
3

15

Suction Port

PT 1"

PT 1 1/4"

Discharge Port

199.5

Suction Port

PT 1 1/2"

4- 13.5 HOLE
25.4 Spot Facer 1 Deep

226

197
50 50

1
7

1
0
1
.5

1
8
6
.57
6

7
6

+0.021
+04

63.6

+
0

.1
+

0
2

-0.02112.5
+0

M8x1.25P

+
0

.0
3

+
0

2
3
0-0

.0
5

+
0

1
6
0

-0
.1

6
+

0+
0

-0
.0

2
1

3
0

3
3

13.5x6 HOLE
PCD 187.5

-0
.0

2
1

+
0

55



15

1
2

5

7
1

.7

1
7

0

60

172

288

5

2
3

0

35
5

43

A

22.0

19.05NO.01-Shaft

NO.02-Shaft

B

36.0

46.0

C

4.76

5.0

D

21.3

24.0

E

32

30.0

NO.01-Shaft

NO.02-Shaft

21.3

24.0

B

36.0

46.0

A

19.05

22.0

4.76

5.0

C

32

30.0

D E

95.02

96.02

F

50T&150T +TSP Series  Pump Dimensional Drawing

50T & 150T+TSPKCL
50T+TSP (Foot Type)

50T+TSP (Flange Type)

150T+TSP (Flange Type)

150T+TSP (Foot Type)

+
0

-0
.0

2
1

C

29.550

93

4- 11 HOLE
24 Spot Facer 1 Deep

-0.2
+0.2

116
47 47

145

1
5

7
5

5
0

1
3

75
5

Suction Port

PT 1"

119
140

+0.2
-0.290 PT 3/4"

Discharge Port

1
1

9-0
.2

+
0
.2

9
0

5
0

4- 11
5

5

-0
.0

3
+

0
F

+
0 -0
.1

2
DA

+
0

-0
.0

2
1

5E

B

550
15

212
18

8

1
2

5

8
2

.5
5

+
0

+
0
.0

3

15.88
+0
-0.021

9
6

128

1
7

.8
+

0
+

0
.1

2-M10x1.5P
DEEP 15

+0.021
4 +0

-0
.0

2
1

+
0

7

13114
140

56

4- 13.5 HOLE
25.4 Spot Facer 1 Deep

Suction Port

PT 1 1/2"

199.5

7
6

PT 1 1/4"

Discharge Port

7
6

1
0

1
.5

1
8

6
.5

1
7

50
197

226

50

8
2

.5
5

+
0
.0

3
+

0

+0.0216 +0

+
0
.1

+
0

3
.5

+0
-0.021

20

2-M10x1.5P
PCD 106

13.5x6 HOLE
PCD 187.5

+
0 -0
.0

5
1

6
0

-0
.1

6
+

0
3

33
0

+
0

-0
.0

2
1

50



/m
in

 O
u
tp

u
t 

F
lo

w

In
p
u
t 

P
o
w

er
 (

K
w

)

Pressure Kgf/cm
2

50T Typical Performance Characteristics

50TKCL

50T-12

25

20

15

10

5

0

3

2

1

0

4

5

0 10 20 30 40 50 60 70 80 90 105

1800 rpm

1500 rpm

1200 rpm
1000 rpm

Pressure Kgf/cm

50

/m
in

 O
u
tp

u
t 

F
lo

w

403020100

5

10

15

50T-14

20

25

30

1000 rpm

10590807060

2

In
p
u
t 

P
o
w

er
 (

K
w

)

4

1

2

3

5

1200 rpm
1500 rpm

1800 rpm

0

6

7

60

Pressure Kgf/cm

0 10 20 30 40 50

5

0

10

15

50T-17

30

20

25

1200 rpm

70 80 90 105

2

1000 rpm

In
p
u
t 

P
o
w

er
 (

K
w

)

3

1

2

4

5

6

7

1800 rpm

1500 rpm

/m
in

 O
u
tp

u
t 

F
lo

w

Pressure Kgf/cm

60

Pressure Kgf/cm

/m
in

 O
u
tp

u
t 

F
lo

w

0 10 20 30 40 50

25

15

20

50T-21

40

35

30

1000 rpm

/m
in

 O
u
tp

u
t 

F
lo

w

60 70 80 90 105

2

In
p
u
t 

P
o
w

er
 (

K
w

)

4

0

2

6

8

50403020100

25

20

35

30

1800 rpm

1500 rpm

1200 rpm

50T-23

45

40

Pressure Kgf/cm

/m
in

 O
u
tp

u
t 

F
lo

w

1200 rpm

105908070

2

1000 rpm

In
p
u
t 

P
o
w

er
 (

K
w

)

600 10 20 30 40 50

40

30

35

45

50

1500 rpm

1800 rpm

50T-30

55

60

80 90 10570

2

1200 rpm

1000 rpm

In
p

u
t 

P
o

w
er

 (
K

w
)

1800 rpm

1500 rpm

0

2

4

6

8

2

0

6

4

8

1025

60

Pressure Kgf/cm

/m
in

 O
u

tp
u

t 
F

lo
w

/m
in

 O
u

tp
u

t 
F

lo
w

Pressure Kgf/cm

0 10

45

40

20 30 40 50 90

2

7060 80

1000 rpm

In
p

u
t 

P
o

w
er

 (
K

w
)

3

105
0

9

12

200 10

30

40

4030 50

50T-36

55

60

65

50

1200 rpm

1500 rpm

50T-40

70

50

60

80

1200 rpm

1058070

2

90

1000 rpm

In
p

u
t 

P
o

w
er

 (
K

w
)

8

0

24

16

35

/m
in

 O
u

tp
u

t 
F

lo
w

Pressure Kgf/cm
2

50T-09

25

20

15

10

5

0

3

2

1

0

4

5

0 10 20 30 40 50 60 70 80 90 105

1800 rpm

1500 rpm
1200 rpm
1000 rpm

25

20

15

10

5

0

57



/m
in

 O
u
tp

u
t 

F
lo

w

In
p
u
t 

P
o
w

er
 (

K
w

)

Pressure Kgf/cm
2

150T Typical Performance Characteristics

150TKCL

150T-48

80

2

1

0 10 20 30 40 50 60 70 80 90 105

1500 rpm

1200 rpm

1000 rpm

Pressure Kgf/cm

50

/m
in

 O
u
tp

u
t 

F
lo

w

403020100

150T-61

1000 rpm

10590807060

2

In
p
u
t 

P
o
w

er
 (

K
w

)

1200 rpm

1500 rpm

60

Pressure Kgf/cm

0 10 20 30 40 50

150T-75

1200 rpm

70 80 90 105

2

1000 rpm

In
p
u
t 

P
o
w

er
 (

K
w

)

10

0

5

15

20

1500 rpm

/m
in

 O
u
tp

u
t 

F
lo

w

60

70

50

45

100

80

90

110

115

70

0

15

5

10

20

0

15

10

5

20

60

70

80

90

95

Pressure Kgf/cm

60

Pressure Kgf/cm

/m
in

 O
u
tp

u
t 

F
lo

w

0 10 20 30 40 50

150T-94

80

/m
in

 O
u
tp

u
t 

F
lo

w

0
90

2

7060 80 105

1200 rpm

1000 rpm

25

In
p
u
t 

P
o
w

er
 (

K
w

)

20

10

151

5

2

200 10 4030 50

150T-116

0
1058070

2

90

1000 rpm

1200 rpm

25

In
p
u
t 

P
o
w

er
 (

K
w

)

15

10

5

20

110

115

100

90

140

130

145

120

110

58









KCL
Memo

62


